Name ___________________________
QUEST
19

Given that a 95% confidence interval of a proportion was calculated to be (.2350, .2860) from a sample of 50 observations, what must the following values be?


Margin of Error ______________


P-hat ______________


Z* ______________


SEp-hat ______________


n ______________

Two fair die are tossed and the sum is recorded.  The number of times 7 came up in 20 tosses was 5. 


· Calculate the Standard error of the sample proportion.

· Is the sample large enough to use the CLT, explain?

· What would critical Z* be for a 90% confidence interval for this data?
A Music enthusiast claims that 50% of all incoming freshmen own an ipod MP3 player. To investigate this claim a random sample of 200 incoming freshmen have been interviewed. Of these, 120 own an ipod. Create a 95% confidence Interval for the true proportion having ipod.   

a. Be sure to include the following

· State the variable and parameter of interest and whether the variable is quantitative or categorical

· Find all the necessary statistical information needed to answer this question

· Show all pertinent technical conditions are satisfied

· Use proper notation

· Include a sketch of your results

· State the confidence interval in the context of the problem.

b. Would we be surprised if the true proportion of ipod owners is 60%, 70% or 80%?

